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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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(For Office use)

SERIES- 1

RECRUITMENT TEST FOR CIVIL CONSTABLES IN DISTRICTS- 6111 )

Time-45min WRITTEN TEST QUESTION PAPER
Max Marks-35

Instructions:

E:

1-
o 2
3.
4-
B

STATE SELECTION BOARD, ORISSA, CUTTACK

2011 QUESTION SET CODE

Each question carries | (ONE) mark.. - 3 -
For each correct answer, 1 (ONE) mark will be given.

For each wrong answer, Y mark will be DEDUCTED.
No mark will be deducted if any question is not attempted.
Find out the correct answer from the 4 choices given below each question and
darken the appropriate circle against the question number in the OMR answer
shect.

Il-..-.-.lllIIII-I-..-.--..IIIII-IIIIIIIIII.--I-.-.-.I.'..-.-.---'.-

In how much time a cyclist will pass a distance of 1000 meters , if he is going at a

speed of 10 kms per hour ? oo
A) 6seconds, B) 10 minutes, C} 6 minutes, D ) 5 minutes . o e

-2

Lh

6.

ctrtare meia

What is the highest common divisor of 12, 18 and 24 ..
A}4| B]Br .;‘}ﬁl D]IZ. \I-,"L-

If 12 men can do a work in 20 days, in how many days will the same work be Yok
done by 24 men ? '
A) 10, B) 15, C) 40, D) 18 .

Purpose of Lokpal Bill is to control ; i
A)Terrorism , B) Corruption ,C) Electoral fraud , D) Drug trafficking . \f’

wWho is the first lady President of Indla ? ) %l \f
A) Mrs. Indira Gandhi , B) Mrs. Sarojini Naidu , T
_£) Dr. Pratibha Singh Devi Patil D) Smt. Kiran Bedi .

¥y

Find the dissimilar word frorm among the following .

Kuchipudi, Baisakhi, Kathak, Odishi
A) Kuchipudi, B) Kathak, C) Odishi , D) Baisakhi
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7. The average age of two boys is 20. What will be their average age after two years ?

A) 26, B) 22, C) 20, D) 24
8. How many sides are there in a rectangle .
A4, B)6, C)3, B)S .
+ L
g, o9 Who is popularly known as “ Santha Kabi “ of Odisha .
% A)Radhanath Ray, B)Baladev Rath, () Bhima Bhoi, D) Sarala Das .
L 10.  The number of players that play in one side in a Volleyball match is
A)4, B)S, C)8, D)6 .
L 1
11. In a class, the ratio of boys to girls is 7:4. If there are 28 boys in the class, how
many girls are there?
i A) 18, B) 16, C) 24, D) None of these.
o o A ‘“‘\-.
{ .ﬂ@ 12. Write the next word in the series given below_
' é dabc, cdab , beda, _ Abed
2= " A) acbd , B) dabc, C) abdc, D) abed
13. Look at the relationship between the first two words noted below and select a

suitable word having similar relationship with the third word to fill up the blank.
Jharkhand : Ranchi :: Chhatisgada :

-A)Raipur, B) Bhopal , C)laipur, D) Nagpur .

14, lfﬂ_i ,B,C,D are coded as K,L, M, N then BAD will be represented as
L Ni My r; ﬁ D
e A) KLN «B) LKN, C) NLK, D) LKK .

15.  How many numbers between 1 and 30 are such that are divisible by 7 ?
A4, B)2, C)3, D) None of the above.

16. Fill in the blank using the suitable word/ phrase given below.
He __to my house every day .
-A) comes , B) is coming, C) has been coming, D) will come .

17. Fillin the blank using the suitable word/ phrase given below.
Anil gave me an ;
A} book B) bl , -€) apple , D) pencil.
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Fill in the blank using the suitable word/ phrase given below.
She is busy her lesson .

A) prepare, _B)preparing,  C) prepared, D)preparation .

Write the next number in the series given below _
22, 20, 17, 13,
A)11, B) 8, C) 9, D) 7

Write the next number in the series given below _
7,10, 13, 16,
A) 20, B) 21, C)23, D) 19

Find the dissimilar word from among the following_
Asia, China, Europe, Africa

_A)China, B) Europe, C) Africa, D) Asia.

@9 a0 a0e faqisde a0f QI eae |
zaqR

A) zaqiy, B) aqan, €) Gaaau D) acaqi

A9 46 90K IRANRQE 600q QIR 6RGt |
P16 6REAT 69 AR

A) zeieas B) aieg, () acela, D) agais

SRR Q8 96 FRte 98 acyaq and @ql

FAE eaIRe agal
A) aig , B) a@, C) aa, D) dar |
Qa1 deaAIewq 906 AFEQT I8 6RE |

I{nﬁ‘a; JF‘ @1@ —
A) acim, B) e¢ , C) o8 , “D) eg8 |
Q0 Q1919 900 99001eqs €08 QIS 6 |

60199 AR’
A) 62194 , B) caimaa, C) caat, D) coig@ie |
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Q & e Y QI8 emet |
X27. Qg 60gee Aig cead aaIleale 6@ G6R AIE R
9eQ , 98, QIg, adQsl |

1
A) as , B) aclqa, () aeq, D) «ig
28.  Og 40q Qe aQede @ 90 §1et IS 6RE |
. Qsefl
A) o8& , Bj asdar, C) qser, D) gefl |

5 29. Fill in the blank using the suitable word/ phrase given below.

of your hands are dirty .
..-A) Both B) Each, C) Either, ' D) Neither .

30. Fill in the blank using the suitable word/ phrase given below.
She is in the garden .
A)walkable , B)walked , C) walk , D) walking .

31. Fill in the blank using the suitable word/ phrase given below.
We ran as as we could .
A) more quickly, | B)quickly, C) most quickly ,D)the most quickly .

32. How many seats are there in Odisha State Legislative Assembly ?
A) 121, B) 144 , L) 147 , D) 157

33. Which of the following States does not border Odisha ?
A)Andhra Pradesh , B) West Bengal , C) Jharkhand ,
. D) Madhya Pradesh .

34. How many districts are there in Odisha ?
A) 13, _B)30, C) 24, D) 19

/55. A shopkeeper purchases a T.V. for Rs.10,000 and sells the same at 20% loss, then
what is the selling price ?

A) Rs.10,000, B) Rs.12,000), C) Rs.6,000, D}-Rs.8,000
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